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Psychographic/Attitudinal

{Base = Current smokers}
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{Base = Current smokers}
PA27. I HE Sot# 4 Aot Jel = A S AFStAUEU 2
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04 HEEA| &
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Smoking Behavior — Chewing tobacco, Snuff, Dip or Snus

{Base = Current Smokers and Former Smokers}
Dla. Redman, Levi Garrett, Beechnut, Skoal, Skoal Bandits &= Copenhagen 2} Z+2 chewing

tobacco(Y & EHel), snuff(R Gl EE= dip(E)2 A28 2 Ho| A& 7}?
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{Base = Answers Yes to D1a}
D1b. & A chewing tobacco(4t = ), snuff(Z =HEl) == dip(E)S doft X3
AL st AL 72
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{Base = Current Smokers and Former Smokers}
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Categories Set #3 SCREENING LOGIC

Current Chewing Tobacco User Answers 1to DIA & 1 or 2 to D1b

Current Snus User Answers 1to D3a & 1or 2to D3b
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Overall Health Impression
{Base = all respondents}
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Smoking Behavior

{Base = current smokers}
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[1 PACK = 20 CIGARETTES]
[RANGE 1-100]
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Electronic Vapor Product Use and Alternative Forms Of Tobacco
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Quit Attempts
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{BASE = answers DEMO3b_01}
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Technology/Media
{BASE for this section is all RESPONDENTS}
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{BASE for this section is all RESPONDENTS}
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{if EAD1 = 01}

EAD2. ® X} Shtll/e-cigarette Of] CHEl Z 1 E ojCjof|lAM EALL EAESUI? GIE S22 S
25 ME{SHAAlL)
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06 Zyban EE= Chantixe} 22 E S AlZsict
07 2 A M5 MH|AS| E2E BHe=r)

08 Smokefree.gov/Tips2t 22 ¢l AtO|E BHFEShCt
09 o|AL EE= J|EL o2 M ETtet AtEstrt
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{Base = recall anti-smoking advertising (OAS1/1)}
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{Based on segment type, randomly select an eligible ad type, and randomly select an eligible ad}

{Assign hidden variable to Ad Type selected and Assign hidden variable to Ad selected}

{IF Ad Type is “TV?”, use this language}
Ol M| &afe|™ 215 st Hof =2|12 o|of CHst #3t2| Bt
227t E2|E2 HFE S BB 20|MAR. A% AYst s @02 sl 4FE FEs14A|2. [Each

respondent will review one TV ad]
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{IF Ad Type is “Radio”, use this language}
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= 2/5f 4/ A/ 2. [Each respondent will review one radio ad]

{IF Ad Type is “Print” or “Digital”, use this language}
OlM| &1 & stt Ho{ =2|11 ofofl Ciet #stel B2 AT 5 SHAlE U Ch A< X a5 B

"CtS" 2 Z &[54/ AI2. [Each respondent will review one print ad]

{For Ad Types = TV or Print: }
At top of page, before question, insert thumbnail image of ad for the rest of the questions in this survey}

{BASE = all RESPONDENTS and all Ad Types}
RC1.0| #1o| Fo HAX|= Fodo|2td M2l L7}
[OPEN END]

{BASE = all RESPONDENTS and all Ad Types}
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{BASE = all RESPONDENTS and all Ad Types}
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01 M3 ZostX £
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{BASE = all RESPONDENTS and all Ad Types}
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[Base = IF RC5 is any of 1, 2, or 3]
RC6.0{H f &0 L2 AHLY EZHSIAHL o5t o H A EFL 7?2 S FHH=22
173t Al 2

{Open End}

{BASE = all RESPONDENTS and all Ad Types}
RC7.0| E1 &of ot 3ol E= F&0| /}AAREL7}?

01 o
02 ofH L

{Base = ask only if Rc7.01}
RC8.0| &1 Fof o 3ol == F 20| AACHH ol Zo|AFH 72 T FHH 2=
7| Mt AL

{Open End}

{BASE = all RESPONDENTS and all Ad Types}
RC9.0| 21 Eof ot3ol|l EX f= F20[ AJAEFH 72

01 o
02 OfLH 2
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{Base = ask only if Rc9.01}

RC10.0| 21 Zol oh g0 SX| g S 0|

TAHoZ I MSHAI2.
{Open End}

{BASE = Smokers and all Ad Types}
RCl1l1.0| Z 17} € st A A

01 o
02 o4 2

{Base = ask only if Rc11.02}
RC12.0| 7l FAHE

TRHOZ J|ASHAA L.

{Open End}

{Base = ask only if Rc11.01}

RC13.0| 217}l 2HE 5l AA RtE0F

I 75 A Al 2.

{Open End}

{BASE = Smokers and all Ad Types}
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UAACHH o H Aol A& 77 = ch &t

S0 FL I

2ol elL7t? = oh gt

duU7t? Zcist FHH22

English

Translation

RC14. In the future, if you saw or heard this
ad on television, on a scale from 1 to 5, where
1 indicates not at all likely and 5 is extremely
likely, how likely would you be to take the
following actions in the next 6 months?

RCl4. o2 o]l & EHefd|HollA
EAHL EA =ctH 6 70 o| ol 757t

ChS S22 FE s 127540
H g, 5= % 7ts =2
olo|st= 10| M 57t K| 2] HEE ALSSH
L FHAL.

Yol 28

RC14. In the future, if you saw thisad in a
newspaper or magazine, on a scale from 1 to
5, where 1 indicates not at all likely and 5 is
extremely likely, how likely would you be to
take the following actions in the next 6
months?

dnE
SN 01|A1 A EctH 6 74
Htotoh s S&S FgtsdS812
Jtsdol 3 S,
ololst= 10M 57X e MEE
LHFEMAIL.

> Hr

oo jo
St mjo

RC14. In the future, if you saw this ad in
online, on a scale from 1 to 5, where 1

RC14. 4o 2 ol T E 2Et2oA EA

H 0| X]| 16




indicates not at all likely and 5 is extremely
likely, how likely would you be to take the
following actions in the next 6 months?

glche 6 748 ol ol 7 stot ot g 5
Hgslsde 1271540 M ©
55 0j2 7hs 40 55 ool
Lol 57HxI 2] M =8 AL 3
YAFYAL.

_o'|_-
rir

RC14. In the future, if you heard this ad on
the radio, on a scale from 1 to 5, where 1
indicates not at all likely and 5 is extremely
likely, how likely would you be to take the
following actions in the next 6 months?

RC14. 2o 2 BN E BIC|20|M EA
ZictH 6 74 o[ ol M3t Cts &
Ferlsds127sMdo| ®F ¢l
5= a3 Jtsdol Ao &dES
o|o|st= 10| M 57 X[ 2] H EE AL 5l
dHFHAIL.
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F. Twitter AlO|E & E5}01 Tips ZHH| QIS
G. AHoz2 FAZ Al £stct
H 3¢ EXE 2ol ™K HHilE AL Sic
I X[HAtE[o] 34 BietS X|X|strt
). OFRAE 3ix| gh=ct
Scale for items RC14.A-H:
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{BASE = Smokers and all Ad Types}

English

Translation

RC14B. In the future, because you saw or
heard this ad on television, on a scale from 1
to 5, where 1 indicates not at all likely and 5
is extremely likely, how likely would you be
to take the following actions in the next 6
months?

RCl4b. 2to 2 o] 211 & =ajd| oM
EAHL EA =ctH 6 70 o| ol 757t
ChS S22 Fe7lsd8 127540
M3 S, 5=l 7IsM0| =8
ojo|st= 10|M 57t K| 2] HEE AL Sl
LHFHAL.

RC14B. In the future, because you saw this ad
in a newspaper or magazine, on a scale from
1 to 5, where 1 indicates not at all likely and 5

RCl14b. 2o 2 o| 21 E A Z0|L
EX|oA EA =ctH 670

is extremely likely, how likely would yoube | Hot7I Ct & S22 HE 7tsdE12

to take the following actions in the next 6 JISAMo| ME YS 5= 0 7= A0

months? o o =
=52 2olst= 101IA1 57t X2l M &
At dHFHAIL.

RC14B. In the future, because you saw thisad | RC14b. Q2 Z o] T E 22} 2l 0| A

in online, on a scale from 1 to 5, where 1
indicates not at all likely and 5 is extremely
likely, how likely would you be to take the
following actions in the next 6 months?

BA EckH 6 7HE o|iol| 757} ok S
"I% Jlsdg 12 7ts4dol ds

= o2 7P"M0I E-S—°
I:

RC14B. In the future, because you heard this
ad on the radio, on a scale from 1 to 5, where
1 indicates not at all likely and 5 is extremely
likely, how likely would you be to take the
following actions in the next 6 months?

RCl4b. 2t 2 B E ElC| 201 M EA|
ZIctH 6 70 of Holl #5171 ot =
FHet7lsMe 12 7s4Mol 8 eS8,
5+ 18 7ts4ol Ao &AES
ololsl= 10| 57X 2 MEE AR5

=
=

202':'
oo o

TETEPYPNE-Y

A. 29 Bx MH|AZ 97| 9|5 1-800-QUIT-NOW &2 Fst2 7Ac}

B. 29 MEE 2t7| 2|5l www.cdc.gov/tips 2} 7LOI STt MEHE M3ste A5 E AO|EE
g EStot

C. @oiol cHall ofAtet AbEtsict

D. @0l CHal QtntolAtel AtEtstot

E. CHE At FHO|AM Sl E 1| 2X| of=rCt

F. Twitter AtO|EE &HE5t0{ Tips ZHm| Q12 =Helstct
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G. AHe=z 392 A|stct
H =29 ExE {sll ®X e E ALS st
. X[HAtE[o] 34 BietS X|X|stct
J. OfFA L otX| gt=ct
Scale for items RC14.A-H:
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English

Translation

RC18. In the future, if you saw or heard this ad on
television, on a scale from 1 to 5, where 1 indicates
not at all likely and 5 is extremely likely, how likely
would you be to take the following actions in the next
6 months?
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RC18. In the future, if you saw thisad in a
newspaper or magazine, on a scale from 1 to 5, where
1 indicates not at all likely and 5 is extremely likely,
how likely would you be to take the following actions
in the next 6 months?
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RC18. In the future, if you saw this ad in online, on a
scale from 1 to 5, where 1 indicates not at all likely
and 5 is extremely likely, how likely would you be to
take the following actions in the next 6 months?
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RC18. In the future, if you heard this ad on the
radio, on a scale from 1 to 5, where 1 indicates not at
all likely and 5 is extremely likely, how likely would
you be to take the following actions in the next 6

RC18. 2t2 2 o]l 1

6 70 & o| ol 3t
12 7lsMo| MH

EE ==
HAS HY 75y

5= 18 7ts4dol

Cf
=3
=

7t otg

o3 K=2
HA X,

months? 7ol galgtg oulshs 1014 574K 2] HEE
A= sl 2k XAIA|9_
A 72 AtE el g £ 7 U= EE LotE 7| fls 1-800-QUIT-NOW £ HEHE 74t
B. 7I7I2 AtEte 28 £ = U M EE L0otE 7| 2[5 www.cde.govitips 2 20| &t
HEE HIst= 7 @ Ao|EE W ESHo
C. 772 At e e & YHoll cHall 2lAtet HEstct
D. 77t2 AtEtel s 5 Lol cHal etmte|Atet A Estrt
E. Fa7tollA # st EE= EtQl ol A EHHfE u| X Lt st
F. 7t7t2 AtEA 29 EXE {6l ©X HElE ALES e A S A7setot
G. Twitter AfO|EE& 2E5109 Tips ZHul| ¢l S =t el stct
H. XIFAtE| el 24 ks XXt
I. 772 AtEol| Al 212 A wetct
J. OIRAX otX| gi=rt

Scale for items RC18.A-H:

01 7l=sMo| ®E § 042

02 =F 7tsMo| A2

03 S dxe 7t=dol U=
04 Agts| Ths4ol US

H 0| X] 20




05 1 7Hs 40| Aol s

English

Translation

RC18B. In the future, because you saw or heard this
ad on television, on a scale from 1 to 5, where 1
indicates not at all likely and 5 is extremely likely,
how likely would you be to take the following actions
in the next 6 months?
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RC18B. In the future, because you saw this ad in a
newspaper or magazine, on a scale from 1 to 5, where
1 indicates not at all likely and 5 is extremely likely,
how likely would you be to take the following actions
in the next 6 months?
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RC18B. In the future, because you saw this ad in
online, on a scale from 1 to 5, where 1 indicates not at
all likely and 5 is extremely likely, how likely would
you be to take the following actions in the next 6
months?
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RC18B. In the future, because you heard this ad on
the radio, on a scale from 1 to 5, where 1 indicates
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